AP Java Practice Test 12-19-2018





Name:_____________________________
I. Matching (1 pt each)

1. ___ Class: 
      2. ___ Object: 

3. ___ Method


4. ___ Static method:

5. ___ Instantiation: 

6. ____: recursion 

7. ____: return

8. ____double:

9. ____ int: 

10.___ System.out.println

11. ___number1 = input.nextInt(); 

12. ___ Primative type:

13. ___ Private:

14. ___Public: 

15. ___Constructor: 

16. ___ Function overloading:
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a) When a method calls itself.
b) Can only be accesses from within the object.

c) A method used in the creation of an object.

d) Command used to display information on the screen.

e) Having more than one method in an object with the same name, but different parameter lists.

f) A blueprint or prototype that defines the variables and the methods common to all objects of a certain kind.

g) Used to send a value back from a method
h) A software bundle of related variables and methods.
i) Can be accessed from anywhere, inside or outside the object.

j) Command used to get information from the user.

k) Creating an object of a class.
l) A type that is not an object.

m) A method that performs a task that does not need an object.
n) A type of variable that stores positive and negative whole numbers.

o) A type of variable that stores real numbers.

p) The part of an object that describes it’s behavior.  (Things it does)

II. Short answer

a. Name two benefits of an array over an arraylist
b. Name two benefits of an arraylist over an array.
c. What is the difference between a for loop and a for..each loop?
Throughout exam, Sop means System.out.println.

III.  Give the output of the following: Assume variables are previously declared.
A.  public String doSomething(int value)

{

  if(value < 5)

    return "" + value;

  else

    return doSomething(value / 5) + (value % 5);

}

What will be returned by the call doSomething(33)?


B.      public static int what (int num)

          {

               if (num % 2 == 0)

                   num = num + num;

               else

                   num =  num* 3;



return num;

          }

         
public static void main


{

               
int sum = 1;



for (pos = 1; pos < 6; pos++)



{





sum = sum + what(pos);

                      
Sop(pos+sum);

                
}

         
 }



C.
public class Mystery

{


public static void main(String args[])


{



int y;



int x=1;



int total=0;



while (x<=10)



{




y=x*x;




System.out.println(y);




total += y;




x++;



}



System.out.printf("Total is %d\n", total);


}

}
D.  (A11). Consider the following data field and method.
private int[] valList;

public void changeList()

{

  int currentLoc = 0;

  int nonZeroLoc = 0;

  while(nonZeroLoc < valList.length && valList[nonZeroLoc] == 0)

    nonZeroLoc++;

  while(nonZeroLoc < valList.length)

  {

    valList[currentLoc] = valList[nonZeroLoc];

    valList[nonZeroLoc] = 0;

    currentLoc++;

    nonZeroLoc++;

    while(nonZeroLoc < valList.length && valList[nonZeroLoc] == 0)

      nonZeroLoc++;

  }

}

Assume that valList is initially the following array.




What is valList after the call changeList()?(5 points)

	
	
	
	
	
	
	
	
	


E)  A16 (A3.29)  Consider the following data field and method.

private ArrayList<String> list; 

public void change()

{

  String str = list.get(list.size() – 1);

  for(int k = list.size() - 1; k > 0; k--)

    list.set(k, list.get(k-1));

  list.set(0, str);

}

Consider following replacements for the entire body of method change. 

I. list.add(list.remove(0));

II. list.add(0, list.remove(list.size() – 1));

III.
String str = list.get(0);


for(int k = 1; k < list.size() – 1; k++)


   list.set(k, list.get(k+1));


list.set(list.size() -1, str);

Which of these replacements would result in an equivalent method?

A. I only
B. II only
C. III only 
D. I and III
E. II and III
IV: Coding

A) Write the code to make a class called Person which will store a name.  Include in the class the following:

1) Default constructor that sets the name to “Emma”

2) A constructor that is sent the name.

3) A toString() method that returns the name

4) A rename() method that is sent a String and change the name to the String and does not return anything.

B) Write the STATIC METHOD for one of the following. Do not write the main body.

1) Problem:  You want to drop a ball and then tell (SOP) how many bounces it takes for the ball to drop to half of its original height.  Information:  In the main body, the user input the original height and the percentage of that height that is lost with every bounce and then output answer in the main body.  For example:  If original height was 16 feet and you lose 25% of height with each bounce, the following information would be appropriate:

Bounce

Height
0 16

1 12

2 9

3 6.75.


So it took 3 bounces for ball to be less than ½ the original height of 16 feet.

2) In a method, have a computer roll two dice 100 times.  After summing each pair of dice, have the computer calculate the longest sequence of continuous 7’s that were rolled.  Return this value back to the main body.  Example:

Roll
Dice1
Dice2
Total
Longest sequence of 7’s

1

2
5
7
1

2

5
6
11
1

3

2
3
5
1

4

3
4
7
1

5

1
6
7
2

6 
6
6
12
2
C) Select one of the following and write the code necessary to solve the problem, make sure you write down the number of the problem you select.  ( 20 points each)    ( No need for any subroutines and no need to have the public static void ….  You do need to declare the variables needed for the code.
a. Input:  assume an answer key (array of String called key) to a drivers exam - 25 question multiple choice - has already been inputted. Write code that will allow a student to take the exam (just say what is the answer to question 1:  a, b, c, d, e; what is the answer to question 2: a, b, c, d, e … what is the answer to question #25:  a, b, c, d, e ….

   

output:  If the student gets at least 80% correct, state, “Student passed exam”; 
otherwise, say, “Student will need to retake exam”.
b. Input:  Assume an array of 20 single letter Strings, called letters, has already 

been created.  Also, input a desired number, called desired .  




output: “Yes” if more than desired of all characters in the array letters are less 





than “K”; otherwise,  output “no”.  
Answer:  {4 pts}
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